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íœhMýSÌŒæ OòÜ¯ðlÞ‹Ü&1
PHYSICAL SCIENCES-1

1.    The Effective Resistance of Two Resistors of 150 Ω and 6 k.Ω are Connected in
Series-

z 150Ω, 6ΚΩ °Æø«§éË ]̄l$ çÜÐ]l*…™èlÆý‡ çÜ…«§é ]̄l… ó̂lõÜ¢ çœÍ™èl °Æø«§ýl… 
A) 146.3Ω B) 156Ω C) 6150Ω D) 6KΩ

2. The Value of "g" is not influenced by
z "g" ÑË$Ð]l ]̄l$ {ç³¿êÑ™èl… ó̂lÄ¶æ$° "Æ>Õ'

A) Ýë¦°MýS ç³ÇíÜ¦™èl$Ë$ (Local Conditions) B) G™èl$¢ (Height)

C) ÌZ™èl$ (Depth) D) Ð]lçÜ$¢Ð]l# {§ýlÐ]lÅÆ>Õ (Mass of the olyat)

3. The  First and Second Nodes are Formed at 20 cm, 60cm When a Tuning fork of 412
hz if used in Resonating air colum Experiment. Then the Velocity and Sound is

z A ]̄l$¯é§ýl V>ÍçÜ¦…¿êË {ç³Äñæ*VýS…ÌZ Ððl¬§ýlr Ð]l$ÇÄ¶æ¬ Æð‡…yýlÐ]l A ]̄l$¯é§ýlÐ]l¬ 20 òÜ….Ò$. 60
òÜ….Ò$ Ð]l§ýlª HÆý‡μyìl ]̄lÑ. 412 hz ™èlÆý‡…VýS O«§ðlÆý‡ƒÅ…VýSË Ô¶æ–†§ýl…yýl… Eç³Äñæ*W…^éÆý‡$. «§ýlÓ°
ÐólVýSÐðl$…™èl?
A) 329.6 cm/s B) 329.6 m/s C) 32.96 m/s D) 3296 m/s

4. Laser Helped in Determining the rate of rotation of Earth Accurately 
z ¿¶æ* {¿¶æÐ]l$×æ Æó‡r$° Q_a™èl…V> °Æý‡~Æ‡¬… ó̂l…§ýl$MýS$ H ÌôæfÇ² Eç³Äñæ*W…^éÍ? 

A) Ruby B) He-Ne C) Ordinary Laser D) Dye-Laser
A) Æý‡*½ ÌôæfÆŠæ B) He-Ne ÌôæfÆŠæ C) Ýë«§éÆý‡×æ ÌôæfÆŠæ D) Oyðl ÌôæfÆŠæ

5. Units of pole strenghth in M.K.S. System  
z M.K.S.ç³§ýl®†ÌZ «§ýl–Ð]lºÌê°MìS {ç³Ð]l*×æÐ]l¬ 

A) Weber B) Ampere-Meter C) amp-m2 D) amp/meter

6. The North Pole of a Short Magnet 5cm is Facing the Geographical North. The Pole
Strength of the Magnet is 3×10−2 amp-Meters. The Neutral Points are at - 

z 5òÜ….Ò$. ´÷yýlÐ]l#VýSË §ýl…yýlÄ¶æ$ÝëP…™èl E™èl¢Æý‡«§ýl–Ð]l…, ¿oVøãMýS E™èl¢Æý‡ «§ýl–Ðé°² è̂l*Ýù¢…¨.
«§ýl–Ð]lºË… 3×10−2 òÜ….Ò$. AÆ‡¬™ól ™èlrçÜ¦ ¼…§ýl$Ð]l#Ë Ýë¦̄ ]l…
A) 1.567m B) 1.567cm C) 1.567×10−2m D) 2cm
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7. Three  Cells of c.m.fs 1v, 1.5v, and 2v are Connected in parallel. if a cell of emf 1.5v
is damaged, the Effective emf  is
A) Increases B) Decreses C) Remains same D) Becomes Zero.

z 1v, 1.5v, 2v emf VýSË Ð]lÊyýl$ çœ$sêË ]̄l$ çÜÐ]l*…™èlÆý‡…V> MýSÍ´ëÆý‡$. ÐésìæÌZ 1.5v emf VýSË K
çœ$r… ´ëOyðl…¨. Aç³#μyýl$ çœÍ™èl Ñ§éÅ^éeËMýS ºË…?
A) ò³Æý‡$VýS$™èl$…¨ B) ™èlVýS$Y™èl$…¨ C) Ð]l*Æý‡§ýl$ D) Ô¶æ*¯]lÅ…

8). An Electric Heater of Resistance 23Ω is used on a mains Suppl;y of 230 v. The
amount of Heat Generated by it in a Minute is

z 23Ω °Æø«§ýl… VýSË JMýS CÐ]l$ÃÆý‡Û̄ Œæ ïßærÆŠæ ]̄l$ 230 ÐøË$tË Ððl$Æ‡¬ Œ̄æÞMýS$ MýSÍ´ëÆý‡$. JMýS °Ñ$çÙ…ÌZ
§é° ]̄l$…yìl Ñyýl$§ýlËÄôæ$Å EçÙ~Æ>Õ?
A)30,000 cals B) 32,857 k.cals C) 3.2 cals D)3. k.cals

9). '' The Induced Current Will appear in Such a direction that it Opposes the Change
that produced it''. This is 

z ""{õ³Ç™èl Ñ§ýl$Å™Œæ {ç³ÐéçßæÐ]l¬, §é°° E™èlμ†¢ ó̂lÄ¶æ$yé°MýSÐ]lçÜÆý‡OÐðl$ ]̄l Ð]l*Æý‡$μ° Ð]lÅ†Æó‡MìS… ó̂l ¨Ô¶æÌZ
Ð]l#…r$…¨'' C¨ 
A) Flemings Left Hand rule B) Ampere Rule 
C) Ohms law D) Lenzs law

A) õœÏÑ$…Vø  GyýlÐ]l$ ó̂l† °º…«§ýl ]̄l B)B…í³Ä¶æ$ÆŠæ °º…«§ýl ]̄
C) KÐŒl$ °Ä¶æ$Ð]l$… D)Ìñæ…gŒæ °Ä¶æ$Ð]l$…

10). Which of the following is called Bohrs Quantum Condition
z {MìS…¨ÐésìæÌZ »ZÆŠæM>Ó…r… çÙÆý‡™èl$-

A) B) C) D)
11).  The Binding Energy For , whose Nuclear Mass is 15. 995 amu is 
z 15.995 amu, MóS…{§ýlMýS {§ýlÐ]lÅÆ>Õ VýSË º…«§ýl ]̄l Ô¶æMìS¢

A) 0.137mev B) 127.6mev C) 16.132 mev D) 14899.3 mev

12). 4n+3 Series Ends With ________
z 4n+3 {Ôóæ×ìæ________ ™ø A…™èl… AÐ]l#™èl$…¨

A) B) C) D) 208
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13). α− Particle is 

z α− MýS×æ…
A) B) C) D)

14). Which of The Following is an Example for isobar ?
IÝù»êÆŠæ MýS$ E§éçßæÆý‡×æ ?

A) B) C) D)

15). 
A) B)  C) D) 

16). The donor Impurity is ____ §é™èlÐ]l*Í¯]lÅÐ]l¬____

A) Galuim B) Indium C) Aluminium     D) Arsenic

A) (V>ÍÄ¶æ$…)    B) (C…yìlÄ¶æ$…)    C) (AË*ÅÑ$°Ä¶æ$…)  D) (BÆð‡Þ°MŠæ)

17). In Rectifier circuits _____are used 
z Æð‡MìStçœÄ¶æ$ÆŠæ Ð]lËÄ¶æ$…ÌZ ÐéyólÑ

A) Transistor    B) p-type semiconductor   C) n-tiype semi conductor  D) Diode

18). In The Expansion of IC, "I" Stands for
z IC ÑçÜ¢Æý‡×æÌZ "I" A ]̄lV> 

A) International B) Integrated  C) Indian  D) Infre

19). A Combination of IC's is called as________ 
z ç³Ë$ ICË MýSËÆ‡¬MýS ]̄l$ ________ A…sêÆý‡$

A) Chip B) ALU C) CPU D) Microprocessor

20). A Cyclist is Travelling on a curved path of Radius m. If the angle of Banking of
the road is 60°, Maximum Velocity of the cyclist is________

z Ò$.. ÐéÅÝëÆý‡¦… VýSË  Æøyýl$zOò³ K Ð]lÅMìS¢ OòÜMìSÌŒæ ™öMýS$P™èl$¯é²yýl$. Æøyýl$zMýS$ 60°Mø×æ…™ø VýSr$t
MýSyìl™ól B Ð]lÅMìS¢ OòÜMìSË$ ™öM>PÍÞ ]̄l VýSÇçÙt ÐólVýS…________
A) 14m/s B) 28m/s C) 20m/s  D) 17.32m/s

20
3

20
3

1
04n1

02n1
03n1

0n

1 235 141 92
0 92 56 36n + U Ba + Kr + ____ + Q→

20 21 22
10 10 10NE NE NE

13 13
6 7C C31 32

14 15si p1 2 3
1 1 1H H H

2
1H4

2 He2
2 He3
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21). The time period and lenght of a simple Pendulum are 

A) 1sec, 1m  B) 2 sec, 1m C) 1sec, 2m D) 2sec, 50cm  

22). The Velocity of a wave of Frequency 512 Hz is 600 m/s . its wave length is____
z 512 Hz‡´û ]̄l@ç³# ]̄lÅ…VýSË ™èlÆý‡…VýS ÐólVýS… 600 Ò$/òÜ. AÆ‡¬™ól B ™èlÆý‡…VýSç³# ™èlÆý‡…VýS

O«§ðlÆý‡ƒÅ…________

A) 1m B) 2.3m C) 2.17m D) 1.17m

23). Of the Zeroth Division of head Scale is Above the index line, then the Error of the
screw gauze is ________

z {çÜ*PVóSh ™èlËõÜPË$ Ô¶æ* ]̄lÅÑ¿êVýS… í³ Œ̂æõÜPË$ çÜ*_Æó‡QMýS$ GVýS$Ð]l ]̄l E…sôæ B {çÜ*PVóSh MìS E ]̄l²
§øçÙ…?
A) Positive «§ýl¯é™èlÃMýS… B) Negative Æý‡$×ê™èlÃMýS…
C) No Error §øçÙ…Ìôæ§ýl$ D) Can't say ^ðlç³μÌôæ…

24). Time of Flight T=________
VýSÐ]l$¯]lM>Ë… T=________

A) B)  C) D)  

25). Distance of moon from Earth is ________ 
z ¿¶æ*Ñ$ ]̄l$…_ è̂l…{§ýl$°MìS Ð]l$«§ýlÅVýSË §ýl*Æý‡Ð]l¬________

A) 2×105km B) 2.85×105km C) 3.85×105km D) Infenity A¯]l…™èl…

26). Sphlting up of Spectral Lines in the Presence of Electric Filed is Knows as _____

z Ñ§ýl$Å™Œæ „óS{™èl…ÌZ Ð]lÆý‡~ç³rÆó‡QË$ _ ]̄l²_ ]̄l² Eç³Æó‡QË$V> Ñyìl´ùÐ]lyé°² _____ A…sêÆý‡$. 
A) Zeenan Effect iÐ]l$¯Œæ çœÍ™èlÐ]l¬
B) Stark Effect  ÝëtÆŠæP çœÍ™èlÐ]l¬ 
C) Radiation Effect Æó‡yìlÄñæ* «§éÇÃMýS çœÍ™èlÐ]l¬
D) Joule Thomson Effect goÌŒæ£éÐ]l$Þ Œ̄æ çœÍ™èlÐ]l¬
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28). Correct order of Electron Affinity of Halogens is _____

z àÌZf Œ̄æË GË{M>t̄ Œæ Aíœ°sìæMìS çÜOÆð‡ ]̄l {MýSÐ]l$…

A) Cl > F > Br > I B) Cl > Br > F > I C) F > Cl > Br > I D) I > Br > F > Cl

29). Π - Bond is Formed due to _____
z Π - º…«§ýl… Ð]lËÏ HÆý‡μyól¨ _____

A) End-on-end overlap A…™èlÅ A†´ë™èl… B) Sideway overlap ´ëÆý‡ØÓ A†´ë™èl…
C) S-P overlap S-PA†´ë™èl… D) S-S overlap S-SA†´ë™èl…

30). Transition Elements are _____ elements
z ç³ÇÐ]lÆý‡¢̄ ]l Ð]lÊËM>Ë$ A ]̄lV> _____

A) S-block B) P-block C) D-block D) F-block

31). Electro Positivity is Highest for
z «§ýl ]̄l Ñ§ýl$Å§é™èlÃMýS ©°MìS A«̈ MýS… 

A) F B) Cs C) Cl D) Ni

32). No.of Elements in 6th period _____

6Ð]l ï³ÇÄ¶æ$yŠæÌZ° Ð]lÊËM>Ë çÜ…QÅ _____

A) 2 B) 8 C) 18 D) 32

33). Ionization Energy _____ From Be to Ra  
z Be ¯]l$…_ Ra Ð]lÆý‡MýS$ AÄ¶æ$±MýSÆý‡×æ Ô¶æMýSÃ… _____

A) Decreses ™èlVýS$Ȳ ]l$ 
B) Increases ò³Æý‡$VýS$ ]̄l$  
C) Docsnot Followany Trend Gr$Ð]l…sìæ {MýSÐ]l*°² ´ësìæ… è̂l§ýl$
D) Constant íÜ¦Æý‡…

34). Bao is _____ in nature. 
z  Bao çÜÓ¿êÐ]l… _____

A) Acidic BÐ]l$Ï… B) Basic „>Æý‡… C) Neutral ™èlrçÜ¦… D) Amphoteric §ýlÓ…§ýlÓ…
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35). A solution in which the quantity of solute is less than the solubulity then it is known
as_____

z {§éÑ™èl ç³ÇÐ]l*×æ…, {§éÐ]l×îæÄ¶æ$™èl MýS¯é² ™èlMýS$PÐ]lV> E ]̄l²ç³#yýl$, B {§éÐ]l×æ… _____

A) Un Saturated Solution AçÜ…™èl–í³¢ {§éÐ]l×æ…
B) Saturated Solution çÜ…™èl–ç³¢ {§éÐ]l×æ…
C) Super Saturated Solution A† çÜ…™èl–ç³¢ {{§éÐ]l×æ…
D) Polar Solution «§ýl–Ð]l {§éÐ]l×æ…

36). 4g. NaoH is Dissolved in 34.2 g water. The mole Fraction of NaoH is
z 34. 2g  ±sìæÌZ 4{V> NaoH MýSÇW… è̂lV> HÆý‡μyìl ]̄l {§éÐ]l×æ…ÌZ NaoH Ððl*ÌŒæ ¿êVýS…

A) 0.1 B) 0.2 C) 0.05 D) 0.0025

37). Solubility of NaCl in 100g of water is _____

z 100 {V> ±sìæÌZ NaCl {§éÐ]l×îæÄ¶æ$™èl _____

A) 9.0g B) 31.6g C) 36.3g D) 84.78g

38). Ionic Product of water at 0°c is_____

z 0°c Ð]l§ýlª ±sìæ AÄ¶æ$±MýSÆý‡×æ Ëºª… _____

A) 1.14×10-19 mole. un2/Litre B)1.0×10-14 mole. un2/Litre

C) 5.30×10-4 mole. un2/Litre D) 1.0×1014 mole. un2/Litre

39). Which of the Following is acidic_____

z MìS…¨ Ðé°ÌZ BÐ]l$Ï «§ýlÆ>Ã°² MýSÍW E…yól¨ _____

A) So3 B)Cao C) Feo D) Ca(OH)2

40). 6 Co2 +6H20 → 6O2 + _____

A) Co2 B) 7H2o C) C2H12O6  D)  C12H6O6 

41). Al4c3+12H2O → ______ + 4 Al(OH)3

A) CH4 B) 2CH4 C) 3CH4 D)  4CH4
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42). Formula of Butyl is ______

z º$ÅOsñæÌŒæ ¸ëÆý‡$ÃÌê______

A) C4H10 B) C4H8 C) C4H6 D) C4H9 

43). Poly hydroxy aldehydes or ketones are called ______

z ´ëÍOòßæ{yéMìSÞ BÍμOòßæyŠæË$ Ìôæ§é MîSsZ ]̄lÏ̄ ]l$ ______ A…sêÆý‡$  

A) Acids B)  Carbo hydrates C) Hydro Carbons  D) Esters
A) BÐ]l*ÏË$ B) M>Æö¾Oòßæ{yólr$Ï C) Oòßæ{yø M>Æý‡¾ ]̄l$Ï D) DçÜÏÆý‡$Ï 

44). The reaction C6H12O6 → 2C2H5OH + 2Co2 is an Example of ______

z C6H12O6 → 2C2H5OH + 2Co2 A ó̄l¨ ______ MýS$ E§éçßæÆý‡×æ  

A) Esterific Cation GçÜtÇíœMóSçÙ¯Œæ B) Saponification çÜ¸ù°íœMóSçÙ Œ̄æ 
C) Distillation õÜÓ§ýl¯]l… D) Termination MìS×æÓ ]̄l… 

45). C17H33COOH is ______

A) Lauric acid ÌêÇMŠæ BÐ]l$Ï… B) Stearic acid íÜtÄ¶æ$ÇMŠæ BÐ]l$Ï…
C) Oelic acid KÆ‡¬ÍMŠæ BÐ]l$Ï… D) Linolinic acid Í¯øÍ°MŠæ BÐ]l$Ï…   

46). ______ Glass is used for Manufacturing of Electric Bulbs

z Ñ§ýl$Å™Œæ ºË$¾Ë ™èlÄ¶æ*ÈÌZ Ðéyól V>k ______

A) Flint glass íœÏ…sŒæ V>k B) Soda glass Ýùyé V>k
C) Quartz glass M>ÓÆŠæj V>k D) Hard glass VýSsìæt V>k 

47). The main Constituent in natural fibres is 
z çÜçßæf §éÆ>ËÌZ E…yól Ð]l¬QÅ A ]̄l$çœ$rMýSÐ]l¬ 

A) Cellulose òÜË$ÅÌZgŒæ
B) Urea formaldehyde Ä¶æÊÇÄ¶æ* ¸ëÆ>ÃÍ¹OòßæyŠæ
C) Celluloseacetate òÜË$ÅÌZgŒæ GíÜsîæsŒæ
D) Casein MóSíÜ Œ̄æ 
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48). Drugs Which act on blood circulation are ______

z Æý‡MýS¢ {ç³çÜÆý‡×æ Ð]lÅÐ]lçÜ¦Oò³ ç³° ó̂lõÜ Ð]l$…§ýl$Ë$______

A) Harmones (àÆøÃ¯]l$Ë$)
B) Vitamins (ÑrÑ$¯]l$Ï)
C) Cardio vasula (VýS$…yðl, Æý‡MýS¢ ¯éâêË Ð]l$…§ýl$Ë$)
D) Anti biotics (Ä¶æ*…sìæºÄ¶æ*sìæMŠæÞ)

49). The Chief raw Materials required for Manufacturers of Ceramics are Clay Sand and
______

z íÜÆ>Ñ$MŠæÞ ™èlÄ¶æ*ÈÌZ Ðéyól Ð]l¬yìl ç³§éÆ>¦Ë$, º…MýSÐ]l$ ]̄l$², CçÜ$MýS, ______

A) Limestone (çÜ$¯]l²ç³#Æ>Æ‡¬) B) Sodaash (ÝùyéÄ¶æ*‹Ù) 
C) Felsphar (íœÌŒæÝëμÆŠæ) D) Borax (»ŸÆ>MŠæÞ) 

50). The First element in the 4th period is ______

z 4Ð]l ï³ÇÄ¶æ$yŠæÌZ Ððl¬§ýlsìæ Ð]lÊËMýS…
A) Na B) Sc C) K D) Li

Key
01) A 02) D 03) B 04) B 05) A
06) B 07) C 08) B 09) D 10) A
11) B 12) A 13) C 14) C 15) B 
16) D 17) D 18) B 19) D 20) A
21) B 22) D 23) B 24) B 25) C 
26) B 27) B 28) A 29) B 30) C 
31) B 32) D 33) A 34) B 35) A
36) C 37) C 38) A 39) A 40) C 
41) C 42) D 43) B 44) D 45) C 
46) C 47) A 48) C 49) C 50) C
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